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Warning: col ['FR'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP4 0
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P4

BriE) | GEBATK (D) | EME (EH/HK) | EBRERE B/ R 5 R

08:35 283 150.0 0.588 fI| FHA@08:35 AFFEF (KRAEREE)
09:20 283 150.0 0.588 M|  FHfe09:20 KHFEF (KRFEERES)
10:20 283 150.0 0.588 M| FiHA@10:20 KREFEF (KAERE)
11:10 283 150.0 0.588 M| FiERe11:10 REFFEF (KAERKSE)
11:55 283 150.0 0.588 m|  FHR@11:55 KREMIEHF (RAKZESR)
12:40 283 150.0 0.588 RS ThHA@12:40 KEIEF CGRAMHESR)
13:25 283 150.0 0.588 FH| FiHA@13:25 KREFEF (RAFERHE)
14:10 283 150.0 0.588 FA| FhHR@14:10 KRHIEHF (RAKLER)
15:00 283 150.0 0.588 M| FiHBe15:00 KEEF (KAERE)
16:00 283 150.0 0.588 M| FiHA@16:00 KEFEF (RAFERHE)
E23t1]2830.0 (100%) 1500. 0 #2333 %EC: 2080.0, PH: 6.4

#HERECE (2148.0 vs 3587.0) i d 5




FRV (ml plant-1)
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P4_0, Day=66 (2025-06-09)
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P4

BTiE) | EBATK (RY) | EHRE (EH/HK) | ERERE (B/R) | KR R

07:00 600 150.0 0.588 = {RRi8@07:00 Fzh (RFAEEE)
07:45 600 150.0 0. 588 = RRiB007:45 Fzh (REAEEE)
08:35 600 150.0 0. 588 =l {Ri%e08:35 Fz (KRFAEZSE)
09:25 600 150.0 0.588 = RRi8009:25 Fz (FRFAEREE)
10:10 600 150.0 0.588 =l RiB@10:10 Fzh (REAEEE)
10:50 600 150.0 0. 588 =l {Ri%010:50 F31 (REAEDSE)
11:30 600 150.0 0.588 5 {Ri%e11:30 Fzh (RAERSE)
12:10 600 150.0 0.588 =l Rige@12:10 Fz (REAEEE)
12:50 600 150.0 0. 588 =l {Rige12:50 F31 (RAEBSE)
13:30 600 150.0 0.588 F BRi%e13:30 Fz1 CGRAERESE)
14:15 600 150.0 0.588 =l Rige14:15 Fz (REAEEE)
15:00 600 150.0 0. 588 =l RiB@15:00 Fzh (REAEEE)
16:00 600 150.0 0.588 El 1BRi&e16:00 Fzh (GRFAEEE)
17:20 600 150.0 0.588 =l RiB@17:20 Fz (REAEEE)
21t 8400.0 (14)%) 2100.0 32 KEC: 2080.0, PH: 6.4

EORGEBRBTC AR IR AR R ZE N (180 vs 278.0))

ZRIASEPRIERE97. 0 ml. N
HEERECE (2132.0 vs 3433.0) 35
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P4

BfiE) | GEBATK (R)) | EBE (EH/fK) | ERERE (B/R) | XS R

06:55 278 150.0 0.588 F  1BRi&e06:55 Bal (RAEREE)
07:40 278 150.0 0.588 El 1BRi&@07:40 Bz (GREAEREE)
08:45 278 150.0 0.588 Sl {Rige08:45 B (RAERSE)
09:40 278 150.0 0.588 E| {Ri%e09:40 Bz (KRAERSE)
10:25 278 150.0 0.588 El 1BRi&e10:25 Bz GRAEREE)
11:10 278 150.0 0.588 S Rige11:10 B (GRAERSE)
11:55 278 150.0 0.588 El 1Rige11:55 Bz (RAERSE)
12:40 278 150.0 0.588 El BRige12:40 Bz GRAEREEE)
13:25 278 150.0 0.588 F BRige13:25 Bz CGRAEREESE)
14:10 278 150.0 0.588 Sl Rige14:10 B3 (RAERSE)
15:00 278 150.0 0.588 F BRi%e15:00 Bz (GRAERESE)
16:00 278 150.0 0.588 El 1BRi&e16:00 Bz (GRFAEEE)
=it 3336.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.4

EORGEBRTC R IRIE R RN (45 vs 278.0))
BRIASERRIERE24. 0 ml.
FEIHECE (2137.0 vs 3340.0) RS




FRV (ml plant-1)
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